
National 5 Rigour Practice 

Factorising 

 
Factorise each of these expressions: 

     Common Factor 

𝑎) 3𝑡2 − 6𝑡           𝑏)  5𝑎3 + 20𝑎          𝑐) 12𝑝3 − 4𝑝2         𝑑) 9𝑛3 + 6𝑛          𝑒)  7𝑛2 + 21𝑛     
𝑓) 6𝑥2 + 9𝑥3        𝑔) 15𝑎4 − 12𝑎5      ℎ) 4𝑦 + 24𝑦3           𝑖) 24𝑟2 + 36𝑟.      𝑗)  2𝑥3 + 8𝑥 

    Difference of Two Squares – No Common Factor 

𝑎) 𝑥2 − 𝑦2             𝑏) 𝑎2 − 𝑏2                𝑐) 𝑣2 − 𝑤2                𝑑) 𝑝2 − 𝑞2              𝑒) 𝑒2 − 𝑓2 

𝑓) 4𝑥2 − 25          𝑔) 9𝑎2 − 1                ℎ)16𝑥2 − 49.            𝑖) 4𝑝2 − 𝑞2             𝑗) 25 − 9𝑎2 

𝑘) 100𝑥2 − 81      𝑙) 1 − 36𝑡2             𝑚) 81𝑎2 − 49𝑏2      𝑛) 4𝑠2 − 49𝑡2        𝑜) 9𝑥2 − 4  

𝑝) 25𝑟2 − 16𝑠2    𝑞) 9𝑚2 − 64𝑛2        𝑟) 16𝑥2 − 25𝑦2       𝑠) 36𝑟2 − 49𝑠2     𝑡) 4𝑥2 − 81𝑦2  

   Difference of Two Squares – Common Factor 

𝑎) 3𝑎2 − 12𝑏2      𝑏) 9𝑚2 − 36𝑛2       𝑐) 12𝑠2 − 27𝑡2         𝑑) 12𝑐2 − 48𝑑2    𝑒) 2𝑡2 − 18𝑣2 

𝑓) 25𝑟2 − 100𝑠2 𝑔) 24𝑔2 − 54ℎ2      ℎ) 27𝑗2 − 75𝑘2          𝑖) 8𝑎2 − 98𝑏2      𝑗) 𝑎4 − 9𝑎2 

𝑘) 25𝑐3 − 9𝑐         𝑙) 4𝑞3 − 𝑞               𝑚) 63𝑣2 − 28𝑤2        𝑛) 𝑝3 − 𝑝              𝑜) 𝑡3 − 36𝑡 

  Trinomials  

𝑎) 𝑥2 + 5𝑥 + 4     𝑏) 𝑥2 − 9𝑥 + 20     𝑐) 𝑥2 + 6𝑥 + 8           𝑑) 𝑥2 − 7𝑥 + 10   𝑒) 𝑥2 + 11𝑥 + 30   

𝑓) 𝑥2 − 9𝑥 + 18  𝑔) 𝑥2 + 12𝑥 + 32   ℎ) 𝑥2 + 10𝑥 + 21       𝑖) 𝑥2 − 7𝑥 + 6      𝑗) 𝑥2 − 15𝑥 + 50 

𝑘) 𝑥2 + 3𝑥 − 10    𝑙) 𝑥2 − 𝑥 − 30       𝑚) 𝑥2 + 4𝑥 − 12        𝑛) 𝑥2 + 5𝑥 − 24   𝑜) 𝑥2 + 2𝑥 − 35 

𝑝) 𝑥2 − 𝑥 − 6        𝑞) 𝑥2 + 4𝑥 − 5        𝑟) 𝑥2 + 5𝑥 − 36         𝑠) 𝑥2 − 2𝑥 − 24   𝑡) 𝑥2 + 3𝑥 − 28 

𝑢) 𝑥2 + 2𝑥 − 15   𝑣) 𝑥2 − 6𝑥 − 16     𝑤) 𝑥2 − 3𝑥 − 40        𝑥) 𝑥2 − 5𝑥 − 6     𝑦) 𝑥2 − 𝑥 − 6 

𝑧) 𝑥2 + 4𝑥 − 21 

  Harder Trinomials 

𝑎) 2𝑥2 − 11𝑥 + 12           𝑏) 2𝑥2 + 13𝑥 + 15         𝑐) 3𝑥2 − 16𝑥 + 5         𝑑) 3𝑥2 − 16𝑥 + 16 
𝑒) 3𝑥2 − 14𝑥 + 8             𝑓) 2𝑥2 − 15𝑥 + 18         𝑔) 2𝑥2 − 17𝑥 + 30.     ℎ) 3𝑥2 + 20𝑥 + 12 
𝑖)  2𝑥2 − 𝑥 − 3                   𝑗) 2𝑥2 + 𝑥 − 10              𝑘) 3𝑥2 + 5𝑥 − 12         𝑙)  4𝑥2 − 25𝑥 + 6 
𝑚) 4𝑥2 + 7𝑥 − 15            𝑛) 4𝑥2 + 8𝑥 − 21           𝑜) 4𝑥2 − 4𝑥 − 15         𝑝) 4𝑥2 + 12𝑥 − 7 
𝑞) 3𝑥2 + 14𝑥 − 5              𝑟) 2𝑥2 + 3𝑥 − 20           𝑠) 3𝑥2 − 14𝑥 − 24       𝑡) 4𝑥2 + 4𝑥 − 35  

 


